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SECTION B: Short
Marking

answer questions
scheme

Question 1

a .

b .

E ( X ) = n p = 8 ( 0 . a ) = 3 . 2

P(X> l ) = I - P(X=0)
= I -  (0.6)8

= 0 .9832

Quest ion 2

a .

b .

a .

b .

t l

,  
x5  (3x+  l ) - r  +  c

r  r 0 5
l l l l

|  6 r  l x  +  l r ' l n  ) u

I
= -  - -  ^ * C

6(3x+ I )z

sq units

M I

M I , A I

A I

A I

M I , A I

M 1 , A 1

M I , A I

Question 3

a .  E ( X )  =  l ( 0 s )  + 2 ( 0 . 2 )  + 3 ( 0 . 1 5 ) + 4 ( 0 . 1 ) + 5 ( 0 . 0 5 ) = 2 0

b .  E ( 0 .  l X +  l ) = 0 .  l ( 2 . 0 ) +  I  = $ 1 . 2 0

Question 4

l l
c o s f i x = t , x - - 3

A I

M I

A I

A I

l7  marks

.f'(x) = 2nsinnx, therefore i'(1)= z"'r"(T)= '.vt

Quest ion 5

. ^  4000
a .  L ( X ) = | t / - -

b .  C ' ( x ) = 0 .  x 2 = 4 0 0
-  -  - !  lo

Using sign of  f i rst  der ivat ive, minimum occurs when x = 20

Total


